
MATEMATIKA 5. RAZRED, REŠITVE 5. TEDNA (7.–11. 12. 2020) 

 SDZ MAT, 2. del (str. 35–40) 

 

str. 35 

  
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

508 – 387 

121 

 
Pr.: L: 121 + 387 = 508 
       D: 508 
       L = D 
 

            b = 766 + 143 
            b = 909 
____________________ 
Pr.: L: 909 – 143 = 766 
       D: 766 
       L = D 
 

                  x = 8 063 – 2 890  
                  x = 5 173 
________________________ 
Pr.: L: 2 890 + 5 173 = 8 063 
       D: 8 063 
       L = D 
 

                  y = 5 802 – 993  
                  y = 4 809 
____________________ 
Pr.: L: 5 802 – 4 809 = 993 
       D: 993 
       L = D 
 

                         z = 47 982 + 1 361 
                         z = 49 343 
__________________________ 
Pr.: L: 47 982 + 1 361 = 49 343 
       D: 49 343 
       L = D 
 

                m = 23 764 – 1 076 
                m = 22 688 
_________________________ 
Pr.: L: 23 764 – 22 688 = 1 076 
       D: 1 076 
       L = D 
 



str. 36 

 

 
 

 

       m = 7 · 4 
       m = 28 
_____________ 
Pr.: L: 28 : 4 = 7  
       D: 7 
       L = D 
 

       n = 40 : 5  
       n = 8 
_____________ 
Pr.: L: 8 · 5 = 40  
       D: 40 
       L = D 
 

        c = 56 : 8 
        c = 7 
_____________ 
Pr.: L: 56 : 7 = 8  
       D: 8 
       L = D 
 

        f = 60 : 10  
        f = 6 
_____________ 
Pr.: L: 10 · 6 = 60  
       D: 60 
       L = D 
 

       x = 9 · 7 
       x = 63 
_____________ 
Pr.: L: 9 · 7 = 63  
       D: 63 
       L = D 
 

        y = 8 · 8 
        y = 64 
_____________ 
Pr.: L: 64 : 8 = 8  
       D: 8 
       L = D 
 

        p = 0 : 1  
        p = 0 
_____________ 
Pr.: L: 0 · 1 = 0  
       D: 0 
       L = D 
 

        k = 32 : 4 
        k = 8 
_____________ 
Pr.: L: 32 : 8 = 4  
       D: 4 
       L = D 
 

x = 9 341 + 3 427  
x = 12 768 
 

Pr.: L: 12 768 – 3 427 = 9 341 
       D: 9 341 
       L = D 
 

Pr.: L: 730 + 1 774 = 2 504 
       D: 2 504 
       L = D 
 

x = 2 504 – 730   
x = 1 774 
 

       x = 42 : 6 
       x = 7 
_____________ 
Pr.: L: 6 · 7 = 42  
       D: 42 
       L = D 
 

       x = 9 : 9 
       x = 1 
_____________ 
Pr.: L: 9 : 9 = 1  
       D: 1 
       L = D 
 



str. 38 

 
str. 39 

 
 



str. 39 

 
str. 40 

 
 

x = 0, 1, 2, 3 
 

x = 4, 5, 6 
 

               x = 13 568 – 4 909 – 2 567 
               x = 6 092 
_________________________ 
Pr.: L: 2 567 + 6 092 = 8 659 
       D: 13 568 – 4 909 = 8 659 
       L = D 
 

                                9 ≥ y · 3 
 
 
y = 0 1, 2, 3 
 

789 543 – x > 789 538 
 
x = 0, 1, 2, 3, 4 
 



 
 

 RISBA: 

     

     

    

  

  najmanjše število zelenih  največje število zelenih 

     

     

    

x – 4 ≤ 8 
 
x = 5, 6, 7 
 

x + (13 – x) ≤ 13  
 
x = 7, 8, 9, 10, 11 
 


